(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: II

PROGRAMME: Bachelor of Commerce (Management Studies)

Sr. No.	Roll No.	i Sealino, i iname		ples of gemen	Mana	gemen	to Bu				Mathe	ematic	Exch	nange		Office	Bha	sha -	Funda Is	of	to Sp	orts,			Total Marks		Credits Earned	SGPA	Grade
			t ·	-	t The	eories	Econ	omics	aı	nd	s.	-	Marl	ket &			Kaus	shalya	Peo	ple's	Phy	sical						1	
			IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE					
			16/40	24/60	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30						1	
1	2407	2 NFBM2925013 SHAH IBRAHIM MEKALI JAMILAKHATOON	\$20	31	\$18	\$18	\$12	\$17	\$15	\$16	\$15	\$20	\$15	\$12	\$15	\$12	\$10	\$12	\$15	\$13	\$18	\$25			329	136	22.0	6.18	B+

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: II

PROGRAMME: Bachelor of Commerce (Management Studies)

Sr.	Roll No.	Seat No.	Name		ples of gemen				luction siness						eign nange		Office		khan halya -		amenta of	Exter Wor				Total Marks		Credits Earned		Grade
					·		-		omics				-		ket &				yalayin		-					IVIAIKS	CG	Lamou		
				IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	ΙA	SEE	IA	SEE	ΙA	SEE	IA	SEE	IA	SEE					
				16/40	24/60	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30							
2	2403	NFBM2925007	/ MONDAL SHRUTI SHRIKANTA SAPNA	\$20	24	\$15	\$14	\$11	\$12	\$15	\$12	\$12	\$18	\$15	\$12	\$15	\$12	\$14	\$16	\$16	\$14	\$19	\$15			301	122	22.0	5.55	В
3	24062	NFBM2925008	/ MORE AKSHADA GAUTAM RANJANA	\$16	AB	\$14	AB	\$11	AB	\$13	AB	\$14	AB	\$14	AB	\$15	AB	\$13	AB	\$15	AB	\$15	AB			140	0			F

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

EXAMINATION: September - 2025

Result Register (A.T.K.T. Exam.)

Repeater SEMESTER : II

PROGRAMME: Bachelor of Commerce (Management Studies)

1	Sr. No.	Roll No.	Seat No.	iname	Principl Manage t - I	emen	•	emen	Introd to Bus Econo	siness		sues		ematic	Exch	reign nange ket &		Office	Hii Bhas Kaus	sha -	ls	-	Natio Serv Sche	rice		Total Marks		Credits Earned	SGPA	Grade
				-		SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE 12/30		SEE	IA	SEE	IA	SEE	IA	SEE	SEE					
	4	24104	NFBM2925006	KADDI BHAVESH KRISHNA ELIZA	\$19	\$24	\$15	\$18	\$12	\$12	\$15	\$14	\$15	\$12	\$14	\$12	\$15	\$12	\$11	AB	\$15	\$20	\$18	\$13		286	110	20.0		F

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

Result Register (A.T.K.T. Exam.)

Repeater SEMESTER : II

PROGRAMME: Bachelor of Commerce (Management Studies)

Sr.	Roll	Seat No.	i ivallie		ples of		bal		luction		nment	Fina	ncial	For	eign	MS (Office	Lek	han	Funda	menta					Total	Sum	Credits	SGPA	Grade
No.	No.			Mana	gemen		•		siness	al Is	sues	Mathe	ematic		ange			Kaush	,		-	to Sp				Marks		Earned		
				t ·	-	t The	eories	Econ	omics	aı	nd	S	-	Marl	ket &			I (Kary	yalayin	Peo	ple's	Phy	sical							
				IA	SEE	IA	SEE	IA	SEE	IA	SEE	ΙA	SEE	IA	SEE	IA	SEE	IA	SEE	ΙA	SEE	IA	SEE	IA	SEE					
				16/40	24/60	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30			·				
5	24047	NFBM2925001	BHOIR SUJAL SURESH USHA	\$22	09	\$15	\$16	\$08	\$12	\$11	\$12	\$13	\$12	\$14	\$12	\$15	\$12	\$09	\$12	\$15	\$12	AB	AB			231	78	16.0		F
6	24085	NFBM2925002	BORADE BHAVIK ASHOK ASHWINI	\$17	24	\$16	\$16	\$13	\$12	\$15	\$14	\$15	\$13	\$13	\$12	\$14	\$12	\$10	\$12	\$15	\$14	\$15	\$25			297	122	22.0	5.55	В
7	24091	NFBM2925009	PATIL SOHAM RAJENDRA JAYASHREE	\$19	24	\$15	\$12	\$11	\$12	\$13	\$12	\$15	\$14	\$14	\$12	\$15	\$12	\$11	12	\$15	\$12	\$15	\$25			290	112	22.0	5.09	С
8	24055	NFBM2925010	/ PUKALE RUPALI RAMCHANDRA SHITAL	\$16	24	\$14	\$12	\$12	\$12	\$15	\$12	\$13	\$15	\$14	\$12	\$15	\$12	\$11	\$12	\$15	\$12	\$12	\$20			280	108	22.0	4.91	Р
9	24020	NFBM2925011	/ RAMPHALE VAISHALI BHASKAR SUNITA	\$20	25	\$15	\$16	\$10	\$12	\$16	\$12	\$11	\$12	\$14	13	\$15	\$13	\$12	\$12	\$15	\$12	\$15	\$20			290	114	22.0	5.18	С
10	24065	NFBM2925014	SAWANT SUMIT SAHEBRAV MANISHA	16	24	\$08	\$12	\$08	\$12	\$10	\$14	\$08	\$15	\$08	\$12	\$08	\$12	\$08	\$12	\$08	\$15	AB	AB			210	80	20.0		F

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: II

PROGRAMME: Bachelor of Commerce (Management Studies)

Sr No	_	Seat No.	Name	Princip Manaç t -	'	Mana	gemen	to Bu	luction siness omics	al Is		Math		Excl	reign nange ket &	MS	Office	Kaush	nalya -		-	Found 8 Explo	k		Total Marks		Credits Earned		Grade
					SEE 24/60		SEE 12/30		SEE 12/30						SEE 12/30									SEE					
1	2405	0 NFBM2925003	/ BRAMHANE ANSHITA HARESH ARCHANA	\$16											\$12										281	114	22.0	5.18	С
1	2 2406	9 NFBM2925012	/ SALVE SHIVANI LIMBAJI MEERA	\$24	24	\$19	\$22	\$14	\$16	\$16	\$22	\$19	\$17	\$15	\$12	\$16	\$12	\$16	\$15	\$17	\$20	\$18	\$18		352	148	22.0	6.73	B+

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

Result Register (A.T.K.T. Exam.)

Repeater SEMESTER : II

PROGRAMME: Bachelor of Commerce (Management Studies)

Sr.	Roll No.	Seat No.	Name	Princi Mana	' 1				luction						eign nange		Office		indi sha -		amenta of	Found	dation							Grade
110.	140.				·		•		omics				- II		ket &		_		shalya	_	-	Explo	ration			Marks	CG	Earned		
				IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	ΙA	SEE	IA	SEE	IA	SEE	ΙA	SEE	IA	SEE	IA	SEE				'	
				16/40	24/60	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30							
13	24021	NFBM2925005	/ JAISWAR ANIKET ASHOK GEETA	\$16	06	\$15	\$12	\$09	\$12	\$12	\$12	\$10	\$13	\$14	\$12	\$15	12	\$10	\$12	\$13	\$12	\$18	12			247	86	18.0		F
14	24025	NFBM2925015	/ PAREKH RIYA ALPESH DIKSHITA	\$16	\$24	\$17	\$12	\$11	\$14	\$15	19	\$13	\$15	\$14	\$12	\$16	\$12	\$11	\$12	\$14	\$13	\$18	\$12			290	118	22.0	5.36	С

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: II

PROGRAMME: Bachelor of Commerce (Management Studies)

		Roll	Seat No.	Name		ples of			Introd							٠ ١		Office		-		amenta				Total	Sum	Credits	SGPA	Grade
1	No.	No.				gemen		•		I						ange				halya -		-	Ser			Marks	CG	Earned		
					t	-	t The		Econ		ar			-		ket &			,	yalayin			Sch	eme						
						SEE																			SEE					
					16/40	24/60	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30						
	15	24099	NFBM2925004	GAMBHIRE VIKRAM SANTOSH	\$19	\$24	\$14	\$19	\$12	\$15	\$15	\$20	\$15	12	\$14	\$12	\$13	\$12	\$15	\$12	\$15	\$18	\$17	\$12		305	122	22.0	5.55	В
				SANDHYA																										